No. of Printed Pages : 8 BZYCT-133

BACHELOR OF SCIENCE (GENERAL)
(BSCG)

Term-End Examination

June, 2023

BZYCT-133 : COMPARATIVE ANATOMY AND
DEVELOPMENTAL BIOLOGY OF VERTEBRATES

Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt any
four questions from Question Nos. 2 to 7.
Draw well-labelled diagrams wherever

necessary.

1. (a) Fillin the blanks : 4x2=2

i) A true palate 1is found only

N e, .

P.T.O.



(b)
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(i1) The cave dwelling cat produces
ultrasonic cries by .............. of tongue.

(111) The slow block to polyspermy 1is
achieved by ................ reaction.

(1v) Induction interactions during
embryonic development are called
.............. , if the signal from the
inducing cell causes a new gene

expression in the responding cell.

Choose the correct options given in the

parentheses : 4x1=4

(1) Olfactory lobes are well developed in
(birds/mammals).

(1) In lampreys, the pituitary gland is
regulated by hypothalamic regulating

(feedback/factors) from other tissues.
(111) The germ layer (endoderm/ectoderm)

of the vertebrate embryo gives rise to

the liver.



(©

(a)

(b)

(a)

(b)

(a)

(b)

(a)
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(iv) During the formation of primitive
streak, most of the cells remain in the
upper layers of blastoderm which

constitute the (hypoblast/epiblast).

Differentiate between the following pairs of
terms : 4X1=4

(1) Endocardium and Myocardium

(11) Hemibranch and Holobranch

(111) Thecodont and Homodont dentition
(iv) Isolecithal and Centrolecithal eggs
Describe the general features of the
vertebrate integument. 5
Give an overview of the aortic arches of
vertebrates. 5
Describe the digestive tract of ruminants
that belong to the order Artiodactyla. 5
Discuss  respiration by lungs in
vertebrates. 5
List and describe the three phases of
spermatogenesis in vertebrates. 6
Describe with the help of a well labelled
diagram the eye of a bird. 4

Discuss jaw suspensorium in vertebrates. 5

P.T.O.



(b)

(a)

(b)
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List the three types of strategies of
specification that take place in embryos of
different animal species and describe any

one in detail. 5
Discuss holoblastic cleavage in vertebrate
zygotes. 5

Describe the process of fertilisation in

humans. 5

Write short notes on any two of the following :

(a)

(b)
(©

2x5=10
Morphogen gradients in cell to cell
interaction
Folding of chick embryo

Lateral line system in fishes
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fomm ¥ T sty wriE
(S, TE.-Hi. |9E)
qAld uet
S, 2023
ot STE. A8, 621133 : HITGihAl Rl TSR
IR foam wa uftaew <fa fagm
qag ;2 HqU2 HAferehad e : 50
M : gvT 7 1 S §1 g gewm 2 § 7 a®
fagl = gol % IS¢ difSw SEl wal
EvIF &1, T8l GAIfed fa9 FEu

1. (%) foa wr & 9w . 4x§=2

() I qA had A g S el

(i) TR H WA el fooet weatie

(iii) SEIMERIV[T T HE Y
sAfafwan g fepan St 21
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(iv) Yol fashre & g 9R0T RERfHAT
FEdrd €, 3R WU HH
et hIf¥ERT  STIfRAT L el
F¥HET § TH TS sifveafs
F R
(@) ®wes ¥ R @ H 9 @&l faswedi @l
9T 4x1=4
G = wferr  (ufeEieentaEr) o
gfeerfaa gt €
() o™ # dem ufa & feEm e
i B i Ot R E PR Al
(HISSh/HNhI) & g el &l
(iii) HIEH! T K TH WA
(ATSVEfeS&R)  dhd ol
SR 2
(iv) o€ @1 & a1 & &l H, AR
IR sAEied &1 90 9@l o
wdl € W (SEUsr/Tiisi) @l
ERiciiS
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(M v & fefafed g9 & F=9 R
fafeT : 4x1=4
() TEEfEW  (SREER) @R
ArErehTfedaH (FURITER)
(i) goferet® 3R refacim
(i) WA (efilei) @R wEEd
(BmHIere) Tafe=rd

(iv) GHddeRt ( STEHOE Y 3R
TeUIdeh! (A2ediee) 3ie

. () HITH! TR0 &l G fowoas =

JUH HifSTu| 5
(W) FHITHA & EHAF =9 & aR § F9
T fafau) 5

. () T SRR & Tmeet (Yl
ael) Sgell & e 9 w1 U hifeg|

5
(@) HEfRdl § ®HSI R a8 & faaxm
sty 5

P.T.O.
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. (F) PIERA H YRISEA & A Jraeensi
% A 9dRU R ITh] 9UH HITT 6

(@) TH YAMifchd IN@ &I WeEd o Uef &

I3 1 FUH ST 4
. (%) FIRfEA o TeEe w1 fAdfae
(TE=aifiEm) &1 9 sifsa) 5

(@) fafe= sg wonfael & 901 ®§ 8 amf
d YHR H fafRIE w1 wEAaE
gies ®ifeT iR 37H ¥ fRE e @

faaR o guH sifsm) 5

. (F) FHITHRT FHAS H gUiESH (FleAaEs )

fogem & ar o saru| 5

(@) a3 o o= &t gfshan &1 v sifs)

5

. frafafes & 9 f&<l g W dfaa feoaforr

fafeT . 2x5=10

() HIVHI-HIVERT TERRAT | HHSH
EERRI

(@) Tt & 4o &1 g (HifesT)
(M) = o ue Y o
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